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PART A
GENERAL ABILITY AND INTELLIGENCE

1. Two trains are approaching each other on
parallel tracks. Their lengths are 700 m and
400 m, respectively. The speed of the first
train is 95 km/hr and that of the second train
is 125 km/hr. The time required by the trains
to cross each other is :
(a) 20 seconds
(b) 18 seconds
(c) 16 seconds
(d) 14 seconds

2. In a swimming competition, the players were
asked to swim 9 km upstream and then swim
back to the point of starting. The winner of the
competition could complete the task in 1 hour
and 30 minutes. If the speed of the current of
the river water was 8 km/hr, the speed of the
winner is :
(a) 16 km/hr
(b) 20 km/hr
(¢) 14 km/hr
(d) 18 km/hr

3. A wire is in the shape of a circle. It is
straightened and reshaped into a rectangle
whose sides are in the ratio 6 : 7. If the area of
the rectangle is 4200 sq.cm, the radius of
circle is, approximately :
(a) 40cm
(b) 42em
(c) 4lcem
(d 35cm

4. In a party, each person takes at least one
beverage. There are three beverages in the
party — tea, coffee and milk. Each beverage is
consumed by 30 persons. Five persons, who
take tea, also take milk. Ten persons, who
take milk, also take coffee. However, no
person takes tea and coffee both. How many
persons are there in the party ?
(a) 90
(b) 85
() 80
d 175
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5.

7.

(3-A)

A, B and C alone can finish a job in 20, 25 and
30 days, respectively. A and B together start
doing the job. However, they leave it after
10 days. The remaining part of the job is
finished by C alone. How many days did C
take to finish the job ?

(a) 4days
(b) 3days
(¢) 5days
(d) 6days

Which one of the following statements is not
correct ?

(a) Goa was established as a State by
separating it from Union Territory of
Daman and Diu in 1987

(b) Mizoram was earlier a Union Territory

(c) Karnataka was created by the States
Reorganisation Act, 1956

(d) The State of Bombay was bifurcated into
Gujarat and Maharashtra in 1960

Who amongst the following has not occupied
the office of both President and Vice President
of India ?

(a) Sarvepalli Radhakrishnan

(b) Zakir Hussain

(¢) KR.Narayanan

(d) Neelam Sanjiva Reddy

As per the Census of India 2011, which one
among the following Scheduled Languages of
India has the highest percentage of speakers ?

(a) Bengali
(b) Marathi
(¢) Telugu
(d) Urdu
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9.  Which one of the following statements about
Panchayati Raj Institutions in India is not
correct ?

(a) Not less than one-third of the total
number of the offices of Chairpersons in
the Panchayats at each level are
reserved for women

(b)  Reservation for Scheduled Castes and
Scheduled Tribes are provided for at all
the three levels of local bodies

(c) States can provide for reservations for
the Other Backward Classes (OBCs), if
needed

(d) State Election Commissioner is
appointed by the President of India on
the advice of the Governor to conduct
Panchayat elections

10. Which of the following statements in terms of
Article 14 of the Constitution of India is/are
correct ?

1.  Article 14 would apply only when
invidious discrimination is meted out to
equals and similarly circumstanced
without any rational basis

2. Article 14 guarantees equality before the
law or the equal protection of the laws
within the territory of India

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2

11. In which year was the first All India Census
attempted and from which year did the
Decennial Census become a regular feature ?
(a) 1861 and 1881 respectively
(b) 1776 and 1801 respectively
(c) 1872 and 1881 respectively
(d) 1881 and 1891 respectively
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13.

14.

15.

A)

Damin-i-Koh is essentially associated with
which of the following tribes of India ?

(a)
(b)
(c)
(d)

Lushai
Khasi
Toda
Santhal

Which one of the following statements about
the headman of the village panchayat in
medieval India is not true ?

(a) The office of the headman was always
hereditary

The chief function of the headman was
to supervise the preparation of village
accounts

(c)  One of the duties of the headman was to

ensure the proper working of the caste
system

(b)

(d) In eastern India, all marriages were

held in the presence of the headman

Which of the following do/does not represent a
break between the Early Harappan cultures
and the Mature Harappan civilization ?

1.  Large-scale burning at some sites
2 Abandonment of certain settlements
3. A shift in the course of the Hakra river

Select the correct answer using the code given
below :

(a) 1lonly

(b) 1and2only
() 1,2and3
(d) 3only

Tosali is known in Indian History as the name
of :
(a)
(b)
(c)
(d)

the Jain brother of the Buddhist Upali.
a provincial centre in Mauryan Empire.
wife of Mahapadma Nanda.

a sacred river in Andhra Pradesh.
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16. Which one of the following states is part of the
Ganga Basin ?
(a) Himachal Pradesh
(b)  Sikkim
(¢) Assam
(d) Odisha

17.  Union Territories of ‘Dadra and Nagar Haveli’
and ‘Daman and Diu’ were merged together in
January 2020. Which one of the following
cities was made capital of the merged Union
Territory ?
(a) Dadra
(b) Diu
(¢) Daman
(d) Silvassa

18. With reference to Lake Victoria, which of the
following statements is/are correct ?
1. The lake is divided among four countries
2. Its area is more than 50,000 sq. km
3.  Itissituated in the African rift valley
Select the correct answer using the code given
below :
(a) 1only
(b) 1and2only
(¢) 2only
(d 1,2and3
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19,

201

21.

22.

A)

Which one of the following cities is not
situated along river Rhine in Europe ?

(a) Strasbourg (France)

(b)  Rotterdam (The Netherlands)
(¢) Cologne (Germany)

(d) Vienna (Austria)

Which of the following cities are not situated

along the Persian Gulf ?
1. Doha

2.  Dubai

3. Jeddah

4. Yanbu

Select the correct answer using the code given
below :

(a) 1and 2only

(b) 1and 3only

(¢) 2and 3only

(d) 3and4only

Which one of the following is the energy
source of stars ?

(a)
(b)
(c)
(d)

Nuclear fission
Nuclear fusion
Chemical reaction

Photochemical reaction

The Nobel Prize in Physics in 2022 was
awarded for ;

(a)  Evolution of Universe
(b) Quantum entanglement
(¢) Black hole

(d) Laser Physics
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(d) 59382716




" 23,

Survey of India, the national survey and
mapping organization, works under the :
(a) Ministry of Education
(b)  Ministry of Home Affairs
(¢)  Ministry of Earth Sciences
(d) Ministry of Science and Technology
24. As of 2022, which one of the following is the
estimated installed capacity of nuclear power
in India ?
(a) About 45000 MW
(b)  About 23000 MW
(¢)  About 7000 MW
(d) About 2000 MW
25. A person of mass 50 kg is standing in a lift. If
the lift moves in upward direction with an
acceleration of 1 m/s2, then the weight of the
person will be closest to :
(a) 490N
(b) 540N
() 440N
(d 50N
26. Which one among the following statements
regarding sound is correct ?
(a)  High pitch sound has high frequency
(b)  High pitch sound has high amplitude
(¢c)  High pitch sound has high speed
(d) High pitch sound has low frequency and
high amplitude
KSDG-A-GIP (9-

27.

29.

A)

A climber tries to reach the top of an object
which is 130 m high. He can climb one metre
per minute. However, as soon as he completes
5 metres, he slips down by one metre. The
climber will reach the top in :

(a) 2 hours 10 minutes

(b) 2 hours 45 minutes
(¢) 2 hours 42 minutes
(d) 2 hours 40 minutes

The wheel of a car covers a distance of 44 km
in 5000 revolutions. The radius of the wheel
is :

(a) 14cm
(b) T7em

() 28cm
(d 25cm

The digit in the unit place of the number
(347192 x (143)%05 js :

(a 9
(b 1
e 7
d 3

What is the smallest number, which when
multiplied by 9 gives the product having the
digit 5 only in all places ?

(a) 95283955
(b) 61728395
() 12345675
(d) 59382716
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(¢) oTRUTEE Weu, HENTsg IR ifewm

(d) WHeF VoW, e IR HAWS

Frfifaa Tonel & & feue avl s R
# qren e % w9 A R T R, S oAy
(wat) $ Tyl 3 ey (R) & fommr &
T B ?

(a) TitaEIgA STTAeRoft

(b) i

(c) ¥HAH

(d) A

ffafias § @ FHE afa 79, STHT 8
gafd 8 ?
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(b) I wIste
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31. A father’s age is 2 years more than 4 times the
age of his son. His age is also 2 years more
than 5 times the age of his daughter. The
average age of the father, the son and the
daughter is 20 years. What is the age of the
daughter ?

(a) 6 years

(b) 12 years

(c) 10 years

(d) 8years

32. Which one of the following is the most
accurate meaning of the term ‘the State’, as
defined in Part-III of the Constitution of
India ?

(a) The Union Government, all State
Governments and all local authorities
within the territory of India

(b) The Parliament of India and State
Legislatures

(¢) The Union Government and the
Parliament of India

(d) The Union Government, all State
Governments, Parliament of India and
all State Legislatures and all local or
other authorities within the territory of
India

33. Which one among the following political
parties came second in terms of seats won in
the first Lok Sabha election in India ?

(a) Kisan Mazdoor Praja Party

(b) Communist Party of India

(e) People’s Democratic Front

(d) Socialist Party

34. Which one of the following States has less
than two Lok Sabha seats ?

(a) Arunachal Pradesh

(b) Goa

(¢) Meghalaya

(d) Mizoram

KSDG-A-GIP

35.

36.

37.

39.

(11~A)

With respect to the Public Accounts

Committee of the Parliament of India, which

of the following statements is/are correct ?

1. The committee came into existence in
the year 1921

2. It was not a Parliamentary Committee
under the control of the Speaker at the
time of its inception

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

In terms of area under forest cover, the top

three states in India are :

(a) Madhya Pradesh, Arunachal Pradesh
and Chhattisgarh

(b) Mizoram, Arunachal Pradesh and
Meghalaya

(¢c) Arunachal Pradesh, Maharashtra and
Odisha

(d) Madhya  Pradesh, QOdisha and
Maharashtra

Who among the following kings is described in
an inscription as the Supreme Being, the
cause of the prosperity of the good and the
destruction of the bad ?

(a) Gautamiputra Shatakarni
(b) Kanishka

(¢) Samudragupta

(d) Harshavardhana

Which one of the following Tamil texts deals
with grammar ?

(a) Manimekalai
(b)  Silappadikaram
(¢) Tolkappiyam

(d) Padirruppattu

Who among the following did not contribute to
the preservation and documentation of the
ancient site of Sanchi in Madhya Pradesh ?

(a) Shahjahan Begum
(b) John Marshall

(¢)  Sultan Jehan Begum
(d) J.M. Kenoyer
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74 741 FI vgar HIl

(a) SAERT G}

(b) GHMITEH T

(c) vt

@ o' T

frafafiga sl w famm Hifw

1. e 2022 H, §YH WY WEwWH 4 Th
s, WEeE, AN quiia gt %
R A THE SR F T 7 A=
3 gU U Fahed i e R

9. WRA 39 uig Wi # A wh o1, SRR @
®9 U 39 Gohed HI T Tl

IR § A PHAT/BHA U T R/R ?

(a) Had 1

(b) had 2

(@ 13R 23t

@ J@1,T&E2

(12-A)

43, @his gun vl % ar § fFeafafes 3 @

FAH/HHA FIF TE 2/ ?

1. 9% Y% UsA e SR = qui g

i gyl @fw mgfd swen
! ggg W I UEA ¢ |

2. A 39 YEA I WRIGR T& 2 |
= i e e w1 T R EE IR I
(a) Had 1

(b) HaA 2

(¢) 13 22H

@@ T 1,T&2

. e R s S TeEE foEd @ o

100 =¥ it 31y & gy A T | I Frafafea #
¥ frerd fore Fee qesr fean o 2

(a) FEREASIE HT SAfAHR

(b) HIEH 1 fIshi

() Toaftrm.smm Seb fasfa e

@ HIV Sew gAfefeet fawfia we

. wwdw % wei #, Pefafes & & s/

H-Y HY T B/E 2

1. ¥g varel gt iR el § w1 TF GoEe
2

9. ¥ dFwd i gfR ¥ W w T I
oY 787 R

3. N W Ed SNEEE Wied N Heg
nfafafeat

# fau e e w1 TE HEE W A
(a) e 13 2

(b) Haer 13 3

(¢) ad 23R 3

@ wad 1




40. ‘Predator Drones’ are manufactured by :

(a) General Atomics

(b) The Boeing Company

(¢) Lockheed Martin Corporation

(d) PrecisionHawk

41. Consider the following statements :

It was alleged that the river became dead

after its mouth was closed restricting its free

flow in 1950. The entire river bed was
converted into a dumping ground for garbage
and solid and liquid waste. The National

Green Tribunal has recently directed the State

Government to revive the dead river by

earmarking dedicated fund for the purpose.

Identify the river :

(a) Vamsadhara river

(b) Sukapaika river

(¢) Musi river

(d) Ulhas river

42. Consider the following statements :

1. In July 2022, the United Nations
General Assembly adopted a Resolution
recognizing the right to a clean, healthy,
and sustainable environment as a
human right

2: India was one of five countries, which
had originally proposed the Resolution

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2

KSDG-A-GIP

(13-A)

Which of the following statements is/are
correct about Mineral Security Partnership ?

1. It is an initiative to bolster critical
mineral supply chain, established by the
United States of America and other
countries.

2. India is not a partner of this initiative,

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(¢c) Bothland?2
(d) Neither 1 nor 2

John Goodenough, a Nobel Prize winner,
recently passed away at the age of 100. He
was awarded the Nobel Prize for :

(a) Inventing Chlorpromazine

(b) Inventing Morphine

(¢) Developing Lithium-ion battery

(d) Developing HIV protease inhibitors

With reference to Lakshadweep, which of the
following statements is/are correct ?

1. It is an archipelago consisting of coral
islands and reefs

2. It is the smallest Union Territory of
India in terms of area

3 The main occupation of people is
tourism and allied activities

Select the correct answer using the code given
below :

(a) 1and2only
(b) 1and 3 only
(¢) 2and 3 only
(d) 1lonly



46. Trfafgs # @ S8 3w aifces arR F 72 W|49. Frafafgs § @ F9-8 Feen-onufa faga 9o

a8 2 2 IR Y | o 8 2

(a) WAt 3R gete 1. gfetaret

(b) wTArEAT IR ETF 2. o=l
3. famieh

(c) WEied 3R &9 "

@ wfeT i T i fw ¢ e &1 @ = gE I gh
(a) hadt 13 3

47. 9oEY 3o Frafafes d @ fra qw d fdm 2 2 (b) ae 23R 3

(@) HAEEH (¢) had 23 4
(d) aa 334

(b) TrfifsEm

(c) &4 50. f=fafea & @ form vgrd &1 sg@m wift sam

% &P (lubricant) % &I & 7g7 foran wmam 2 2
(a) UTHH (Graphene)

(d) gHAfH

(b) % (Tale)
48. TEMEE F9 WYg &% HeW H, Fpafafea § @

(¢) iF (Glass)

P /HH-A HIT T 2/2 2
(d) 4] (Sand)
1. 9 SAETE! |fshadr & SR E 8
o, 3z SR T ¥ ¥ wm 51. Fafafaa & @ Fa, faftm qon i aoRet
¥ fore wd w0 = Prefia s 2 2
R S (o) TS NPl e O S MR o
H2 fRu M e w1 v W Ed I i WIE > EH T > JaTh > 5% T
(a) Fae 13 2 (b) AM e & fore v > FM e & forg
T > GE A > AT > G THW
gl () g\ a0 > AM ed & e v > FM
(c) had 23 3 e & foe uge > ot > 3 Y™
d) Fad3 @ AM & & fow wge > FM e & fa
T > IATH > G TH > GET a0

KSDG-A-GIP (14-A)



46. Which of the following countries are not
situated along the coast of the Baltic Sea ?
(a) Latvia and Poland
(b) Latvia and Russia
(¢) Sweden and Russia
(d) Sweden and Norway

47. Lake Balkhash is situated in which one of the
following countries ?
(a) Kazakhstan
(b) Kyrgyzstan
(¢) Russia
(d) Turkmenistan

48. With reference to the Galapagos Islands,
which of the following statements is/are
correct ?
1.  They are formed due to volcanic activity
2. They are part of the South American

nation, Peru

3. They are situated in the Pacific Ocean
Select the correct answer using the code given
below :
(a) 1and2only
(b) 1and 3 only
(¢c) 2and3only
(d) 3only

KSDG-A-GIP

49.

51'

(15-A)

Which of the following coal-based power plants
are situated in Uttar Pradesh ?

1. Darlipali
2. Dadri
3.  Singrauli

4.  Vindhyachal

Select the correct answer using the code given

below :

(a) 1and3only
(b) 2 and 3 only
(¢) 2and4only
(d) 3and4only

Which one of the following substances is not
used as a lubricant in heavy industries ?

(a) Graphene
(b) Tale

(¢) Glass

(d Sand

Which one of the following represents the
correct order for the wavelengths of different

waves ?

Used for FM radio > Used for AM radio
> Microwaves > Infrared > Visible light

(a)

(b) Used for AM radio > Used for FM radio

> Microwaves > Infrared > Visible light

Microwaves > Used for AM radio > Used
for FM radio > Infrared > Visible light

(c)

(d) Used for AM radio > Used for FM radio

> Infrared > Visible light > Microwaves




52.

53.

54.

55.
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sae 6 It % werfeese (fomr &) faga %
IFER, FEE H FgEia g amw a2 2
(a) 03 fuferam ad

(b) 4 - 6 faferm ad
(¢ 17— 10 fafezm ad
@ 13- 18 feferm ad

et fire =1 QWM 240 K & 9est 210 K &
e & | feift wieege #, aome § |@d giadd
(fas & fam) formes faepe @ 2

(a) b4°F

(b) 30°F

(0 17°F

(d) 44°F

e o FefaRed # 8 feg a9 § g i
gad 31 @ud Bt 2 2

(a) IEm

(b) S
() TEERt ()

d @H

frafefiaa & 4 fFd faerfim fafean 1 s
HET SR ?

(a) TerfEea™ 3m$eA™ (Christiaan Eijkman)
(b) Weftw 89T (Frederick Hopkins)
(¢) G $% (Casimir Funk)

(d e ggaé (Robert Woodward)

56. WA # @l % W@ Ug (TOFI) FHHA JAT5S

57.

(16-A)

g T Bt $TEvHE ST (USAID) 3
YRE THR & A, a9 R Fearg aReEdd
AT g YR i 78 qu-adia §Y 98 # |
3 FHEHA § WRA % G1d YPiER T $HH-4
g2

(a) 5w, fugr, sfEmn, TeoRym, #ER,

I Yy 3R ST

(b) 5w, fegw, sfEmOn, TSEYE, TEA,
gare 3R gfeem s

(c) 3TIY Yew, Yire, ToiEy™, Joidne, ufead
s 3R afterg, s

sm, 3y gew, wRawm,  shfem,
oY, afieTg 3 3T Se

(d)

frefafigs § @ SFE $wE, JoEyg aiEd

wesid gk (CCPI-2023 & IHER W&

Er i

(a) 9Rd 3 CCPI-2023 H FW 2 T i
FATT T B |

(b) WRA & CCPI-2023 § 89 T T TG 741

2

() wrd, fova # SoEy ufEds ® |arw
was T arel Y 9= 29 § SRR |

3@ guhih § WRG H H ¥ A6 3R
Frgee fohren & = @1 T R |

(d)



53.

According to the Big Bang theory of the origin
of the Universe, the age of the Universe is
estimated at about :

(a)

0-3 million years

(b) 4 -6 billion years
(¢)  7-10 billion years
(d) 13- 18 billion years

The temperature of a body decreases from
240 K to 210 K. The corresponding change
(without sign) in the temperature in degree
Fahrenheit is close to :

(a) b54°F
(b) 30°F
€} 17°F
(d) 44°F

Which one among the following sectors in
India consumes the maximum amount of
groundwater ?

(a) Industry
(b) Agriculture
(¢) Household
(d) Mining

55. Who among the following is considered as the
‘Father of Vitamin therapy’ ?
(a) Christiaan Eijkman
(b) Frederick Hopkins
(¢) Casimir Funk
(d) Robert Woodward
KSDG-A-GIP

58.

517.

(17-A)

Trees Outside (TOFI)
programme is a five-year joint initiative by the
United States Agency for International
Development (USAID) and the Ministry of
Environment, Forest and Climate Change,
Government of India. Which are the seven
states of this

Forests in India

participating India in

programme ?

(a) Rajasthan,

Pradesh and

Assam, Bihar, Haryana,
Maharashtra, Uttar
Chhattisgarh

(b) Assam, Bihar, Haryana, Rajasthan,

Gujarat, Punjab and West Bengal

Andhra Pradesh, Punjab, Rajasthan,
Chhattisgarh, West Bengal and Tamil
Nadu, Odisha

Assam, Andhra Pradesh, Haryana,
Odisha, Rajasthan, Tamil Nadu and
Uttar Pradesh

(c)

(d)

Which of the following statements is not
correctc as per the Climate Change
Performance Index (CCPI)-2023 ?

(a) India has jumped 2 spots higher in

CCPI-2023.

(b) India is placed at the 8t rank in
CCPI-2023.

(c) India is amongst the top 5 best
performing countries in the world on
climate change.

(d) India is placed lower in rank in this

index than Norway and United

Kingdom.




58.

59.
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UNDP % <ifis amifoes arge ga&i® (Sst
T A 3e99) ¥ WR AW ¥ |
Frferfiga § & S-91 t 3™ @7 22

(a) U

(b) s

(c) HIEEHiTH
@) i

giaw i s ¥ gafuq Freafafaa seEi ©

ﬁa‘naﬁﬁq:

1. e §9¢ 2021-22 ® @ &<l H IH
FA F oo 6 78 off

9. WG TR 4 Gigw A wi Fuas @
Frgfea foren 2

3. 3 @fs gha giEemeh & fou gumes
e =g I fopg smdn

4. A sfe fafiw forga 8, @ 2@ aed
wiftEi, wafacis &9 & oo 3k
Feay e g § fRw % foe
&

I & | foFe wom wdt € 2

{a) 1

b 2

() 3

(d 4

fafafgs frer  adem  (8fR) /a9eE

(F1358) § | FH-F1, I9S AFSH A & T
gifea 7 2 2

(a) UN 2023 dfex 130 : A a
(b) SDG ®fWE 2023 . aTfIpTeA, St
(c) FeATEHE TSITH : AT
afire 2023
d COP 28 . g%
(18-A)

61.

62.

‘A’ 3R B @ S @ 6l TR 3: 4 F I
# R fAwm F ®W F 9%, A’ A T 600 AR
fopu, sfs B 3 T 500 A e | qenfy, f&
¥ A3 2 150 99 fu 3 B’ 3 T 100 =
fpu | afz &g & o o, 39 9" qEE AU
2, @ gEE A’ % yw R 9w @ fi af
oft ¢

(a) T150
(b) T 200
(c) T 250
(d) <100

UH ANH F 20% A a6 b B T &
T | Y WHE H 50% @ W oe fam |

T 3 For e e afia foean 2
(a) 10%
(b) 30%
() 20%
(d) 40%

s Afh 2 99 6 iy F fou 5% e =
W RO T & | 98 dohlel 39 €U W 5%

Trafg A W 2 a9 F AT W AR |
Ifz 3§ T 2,100 H AW T & @ 354 fopart
g 1 o form on 2

(a) ¥ 8,00,000

(b) T 4,20,000

(¢) ¥ 1,00,000

(d) ¥ 8,40,000

frafafgs § @ s waifus sfuframia
urg ? ?
(a) Na
(b) K
(c) Ca
(d Mg




- 58. UNDPs ‘Gender Social Norms Index’
comprises four dimensions. Which of the
following is not a dimension ?

(a) Political
(b) Educational
(¢) Cultural
(d) Physical
59. Consider the following statements related to
‘Sovereign Green Bonds’:
1.  Union Budget 2021-22 announced the
issue of these bonds
2.  The Government of India has approved
a Sovereign Green Bonds Framework
3.  These bonds are meant to be issued for
mobilizing resources for green projects
4. These bonds are financial instruments
that generate proceeds for investment in
environmentally sustainable and
climate suitable projects
How many of the above statements are
correct ?
@)= 1
(b) 2
() 3
(d 4
60. Which one of the following
Summits/Conferences is not correctly paired
with the place of the summit/conference ?
(a) UN 2023 Water : New York
Conference
(b) SDG Summit 2023 : Washington, DC
(¢) Climate Ambition : New York
Summit 2023
(d COP28 : Dubai
KSDG-A-GIP

61.

62.

(19-A)

‘A’ and ‘B’ have pocket money in the ratio of
3 : 4. After the day’s work, ‘A’ earned ¥ 600
while ‘B’ earned ¥ 500. However, ‘A’ spent
¥ 150 and ‘B’ spent ¥ 100 during the day. If
they have equal amount of money at the end of
the day, then the pocket money ‘A’ had in the
morning is :

(a) <150
(b) ¥ 200
(e) ¥ 250
(d) €100

A businessman lost 20% of his goods due to
rain. The remaining items were sold at a profit
of 50%. The businessman earned an overall
profit of :

(a) 10%
(b) 30%
() 20%
(d) 40%

A man takes a loan at 5% simple interest for a
period of 2 years. He immediately gives this
money on loan at 5% compound interest for
2 years. What is the amount of loan he has
taken if he makes a profit of T 2,100 ?

(a) ¥ 8,00,000
(b) ¥ 4,20,000
(e) ¥ 1,00,000
(d) ¥ 8,40,000

Which one among the following is the most
reactive metal ?

(a) Na
(b) K

() Ca
(d Mg



“.

67.
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frafafga Sfial & aygl & @ *F-a g, @&
& W TH @i @A T 2 ?

(a) M, SR, 7T
(b) e, I, 99
(c) o™, @iq, a™

d) <Fr, dew, g™

frafafaa d @ s 3w, angfa 3 & @&
ST Gd HT B ?

(a) W1 F g A 7T Y
(b) WIS & 7Y AR ufEEi & 9@
(0 il % d@ 3 Hel F v@

(d) =&d % AT (flipper) 3N Hewh & UG

frafafas & & fFer v & fawem @ o+
foren ‘genitar &1 fge foman o1 2

et 3

(b) oA B

(¢) foma =

Ffcas TeH

(a)

(d)

frfefiga § @ ‘aoafiol’ e w1 @i 8
22
(a) foregm
FHegul
(c) dMUIHE

@ wayfd

(b)

69. XaMyswvHfrfi@ad, XH YT FA W, -

70.

71.

72.

(20-A)

Yol a1 3 T 10 &4 & | Ife 98 Sfiaar 8, a@t
WY T 50 fiel | 3l 3 15 97 @ B 3R
X T 450 T3 &tar 8, 9t X ferat am Sfiar 2 2

(a) 8
(b) 9
() 10
@ 12

F =af A S, g el @hw § 5 A
wlea 2 | 38 fopar wfawa it e (discount)
fireft 2

(a)
(b)
(c) 40%

(d)

50%
60%

45%

ffafaa & & #9, af 2022 § §H JEHR 5
oo & 2

(a) TTEH QI
(b) et 5
(c) SIEM HEUNTaeishl
(@) e =

39 e &1 AW F91 & 8 NASA 3 fadnTean
TASAT I HGHT T A A AGET H T A
% &9 #, 7ast 2022 7 yafya fomam 2

(a) SWOT
(b) mefrE

(c) FAETEE AT

(d) ¥IH T (SpaceX)



65. Which one of the following groups of
organisms correctly makes a food chain ?
(a) Grass, Goat, Human
(b) Elephant, Goat, Grass
(¢) Tiger, Snake, Grass
(d) Insect, Frog, Grass
66. Which one of the following pairs correctly
represents an example of analogous organs ?
(a) Forelimb of horse and human arm
(b) Human hands and wings of birds
(c)  Wings of birds and wings of insects
(d) Flipper of whale and forelimb of frog
67. Who among the following directed the film
‘Subarnarekha’ made on the partition of
India ?
(a) Satyajit Ray
(b) Mrinal Sen
(¢) Bimal Roy
(d) Ritwik Ghatak
68. Who among the following is the author of the
book ‘Rajtarangini’ ?
(a) Bilhana
(b) Kalhana
(¢) Banabhatta
(d) Bhavabhuti
KSDG-A-GIP

69.

70.

71.

72.

(21-A)

In a game between X and Y, X has to give
T 10 each time he loses to Y. If he wins, then
he gets T 50 from Y. If they play 15 times and
X earns T 450, how many times does X win ?

(a) 8
b)) 9
(¢ 10
d 12

A man purchases 5 shirts in a ‘buy two, get
five’ scheme. How much discount percentage
did he get ?

(a) 50%
(b) 60%
(c) 40%
(d) 45%

Who among the following was the winner of
the Booker Prize in the year 2022 ?

(a) Douglas Stuart

(b)  Geetanjali Shree

(c) Shehan Karunatilaka
(d) Amitav Ghosh

What is the name of the vehicle which NASA
launched in November 2022 as part of a plan
to eventually carry humans to the Moon ?

(a) SWOT

(b) Artemis

(c) Insight Lander
(d) SpaceX



73.

74.

9 2023 #, WRA TWHR 7 AREEE W emm
R I T FH 5 I d Treryy AR gow
sfufem, 1996 # guri i fawfw @ F fog
w fasies ¥ o1 e foen B | Fafrfiaa
T I 39 Tiafa o1 reaE 8 2

(a) YUW! WRA %I HEFRIFATE!

(b) veur fafy wfem

(¢) U gdadi fafy afea

(d) T TG HRA H JET A
frafafea & @ fFa 5@ grn wra-ses dm 6
e I St 8 2

(a) HH1 ge&m s (BSF)

(b) WRa-foesa € gfeqa AITBP)

(¢) 3TEH UsHed
(d) wyea 1 96 (SSB)

75. g 1 @ g 1 % = gafaa i el

gt & A9 faw ¢ e 1 T R EE IH
g :

g 1 gl 11
(9T AT I (3ETTEE)
Y1)

A. Ghuenld aRER 1 e dgeef,
= Hite

B. uvetefidt wpa 2 ﬁﬁwwﬁ,

C. @ifiq gfdiemr wpet 3. ATETATH HiSH,

e
D. EmEreas 3R 4. INS framst,

sl ufreer wpet ATEen
e :

A B C D
() 3 2 4 1
(b) 1 4 2 3
g 8 4 2 1
d 1 2 4 3
KSDG-A-GIP

76.

717.

78.

79.

(22-A)

| B

g wvre

UIEUH (Python) FT & ?

(a) IH-LAL YN (High-level language)

(b) HISTARUT UTHT (Assembly language)

(¢) I 9T (Machine language)

(d) 37hel URWIT W1 (Data definition
language)

frafafgas § @ #wdf, Sosee wifcafah

(network topology) Crid 2?

(a) 99 (Bus)

(b) N (Star)

(c) AT (Mesh)

(d) ¥H-E (Peer-to-Peer)

3 % & B (two’s complement form) H-8
3 — 2 w1 fgamurd I (binary addition) %1
gftoms =1 2 2

(a) 10110

(b) 0110

(c) 1110

(d 0111

frafafga # @ #F-H, FEE-3RF (Pointing
device) g1 & ?

(a) TEHHH (Touchscreen)

(b) ¢aTd (Trackball)

(¢) SehI9 @@l (Light pen)
(d) ShHE1& (Scanner)

U (Registers) # fF@ YHR (29) &
e (flip flop) 1 S& fera e 2 2
(a) DY (IrW)

(b) SR
(¢) TR (239)

(d JK




73. In June 2023, the Government of India set up PARTB

an expert panel to recommend reforms in the PROFESSIONAL SKILL
Arbitration and Conciliation Act, 1996 with an

aim to reduce the burden on courts. The

Committee is headed by who among the 76, Pythonisa:
following ? (a) High-level language
(a) The incumbent Attorney General of (b)  Assembly language

India
(b) The incumbent Law Secretary
(¢) A former Law Secretary

(¢) Machine language
(d) Data definition language

(d)  Aretired Chief Justice of India 77. Which one of the following is not a network
topology ?
74. Indo-Bhutan Border is guarded by which one G B
among the following forces ?
(a) Border Security Force (BSF) W | B
() Mesh

(b) Indo-Tibetan Border Police (ITBP)
(¢) Assam Rifles (d) Peer-to-Peer

(d) Sashastra Seema Bal (SSB) !
78. The result of binary addition of — 8 and — 2 in

75. Match List I with List IT and select the correct two's complement form is :

answer using the code given below the Lists : (a) 10110
List I List I1 (b) 0110
(Indian Navy (INS)
Training Institute) © 1119
A. Anti-Submarine 1. INS (d) 0111
Warfare School Venduruthy,
Kochi 79. Which one of the following is nof a pointing
B. NBCD School 2. INS Kunjali, device ?
Mumbai @ T
C. Music Training 3. INS Mandovi, 8) - Tetdhmerceq
School Goa (b) Trackball
D Provost and 4. INS Shivaji, (¢) Light pen
Physical Training Lonavala
v e (d) Scanner
Code : . ¥ 4
80. Which type of flip flops are used in registers ?
A B C D G Ba
a
(a) 3 2 4 1
; (b) SR
(b) 1 4 2 3
i
© 3 4 2 1 & The
@ 1 2 ¢ .8 @ -5

KSDG-A-GIP (23-A)



81.

82.

83.
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DBMS 1§ fHaIeeid TEYH  (transaction
management) # ACID ﬂ“l"b'lﬁ (properties)

foraeh fore e e 2 2

(a) UEITHfGd, Hivehidl, ATFHIIYH,

sefaferdt

sfafadt

(¢) ueitmfyd, i, JTSHIATH,
sfaferd

(@) uifEd, s, Fimsid,
Sfafadt

(b)

CISF & ®ewi W f=fafegs & & ==
rfufem @ 787 g 2 2

(a) <& wiawy sAfufaH, 1961

(b) W gs Hfgar, 1860

(c) Tigh der fuf¥am, 1936

(@ weerEm framor srfafam, 1988

wags sl gu CISF % et wdff fove
FA-9e  HI, W AU Hded w1 HEEA
sEEgH & I IEgES wan @, Fefafaa §
¥ $H-a1 g3 7@ eI s w2

30 f&7 % I & U JuF
(b) oo ufefey & afea o s
(¢c) rfd Wbl

affier

(a)

(d)

84.

85.

(24-A)

Fg ofeifs g 9@ wfufem, 1968 #i .
g 8 & adi fou mu foedt smew & fawg
et smew ¥ =3fda fopdt weff fopu 7w CISF
geed g gAde Fifs veqa @ B fafafds
afy F=m 8 2

(a) 38 ey gygfaa e oM &t affe @
TrE $i 7afy & it

I ew wyfaa fhu o i alE @ @
g $i afy & it

(¢) 38 Iew Ggfq fpu o i arig @ o=
g $I Ay & e

30 ey wygfad fu 9 it aifte 4 38
| 6t 7afy & i

(b)

(d)

Fg siafies gan s@ afufEm, 1968 %

arefq well fopu o oyt s-gew Hiavy eyt

(restrictions) % e & | 39 W F=fafea #

A HH-H1 A0 7@ B R 2

(a) foreft =qggm@ @9 o1 %9 @9 F WY
eAtEa g

(b) TRl Torfaes w1 e B

() Tt Tt 9ad # ge= B R @
F 9T F €9 § GAGTIH T8 8

(d) aFTF JHR Y FIE gEH THIRG HHT

Hm e gen 9@ AAfufEm, 1968 i
g 18 % A Hasg & TRt fasemo
(violation) a1 Teft fam =1 faffmm = fepeht
waees afuet g fou o faftrget steert =i
AFEEER W HET AT IH AAGHHL U
w1, FY 9y g vHfa & & 2

(a) I 3N AT

(b) 3TEIT IR A
(¢) HIF AN FHHAE
(d) IEAT N I



81. ACID properties in transaction management
in DBMS stands for :
(a) Atomicity, Concurrency, Isolation,
Durability
(b) Autonomy, Consistency, Isolation,
Durability
(¢) Atomicity, Consistency, Isolation,
Durability
(d) Atomicity, Consistency, Infidelity,
Durability
82. Which one of the following Acts shall not
apply to the members of the CISF ?
(a) Dowry Prohibition Act, 1961
(b) Indian Penal Code, 1860
(¢) Payment of Wages Act, 1936
(d) Prevention of Corruption Act, 1988
83. Which one of the following may not be
awarded as punishment by the supervisory
officer to any enrolled member of the CISF
who discharges his duties in a careless or
negligent manner ?
(a) Fine amounting to 30 days pay
(b) Deprivation of special emolument
(¢) Withholding of promotion
(d) Censure
KSDG-A-GIP

84.

(25-A)

What is the prescribed duration for filing a
revision petition by an enrolled member of the
CISF aggrieved by an appellate order against
an order made under Section 8 of the
CISF Act, 1968 ?

(a) Within a period of one month from the
date on which the order is

communicated to him

(b) Within a period of two months from the
date on which the order is

communicated to him

Within a period of three months from
the date on which the order is
communicated to him

(c)

(d) Within a period of six months from the
date on which the order is

communicated to him

All members enrolled with the force under
CISF Act, 1968, are subject to certain
restrictions. Which one of the following does
not apply to them ?

(a) Associate with any trade union or labour

union
(b) Be a member of any political association
(c) Be a member of any society that is not
recognized as part of the force
(d) Publish a book of scientific character

What is the nature of offences such as
violation of duty or wilful breach or neglect of
any rule or regulations or lawful orders of a
supervisory officer under Section 18 of the
CISF Act, 1968 ?

(a) Cognizable and bailable

(b) Non-cognizable and bailable

(¢) Cognizable and non-bailable

(d) Non-cognizable and non-bailable



87. frafafga A w ff=r Fifse

1. B o Af # fEfa +@ % e co,

T JANT HET T8

2. ‘B’ 29 3Af =+ FEth 3 ¥ fou gy

IS AT 1 Y4 TR S wear @

3. ‘B g A & FEfa +@ & oo ¥

e F9 g9 B &

4. UMt i 9 H GEUHES @ HE
=fee, Fifh 398 B’ 2159 AfH S el

S
304 HYAI § § F-A 9 77 £ 2
(a) Faa 23N 3
(b) e 13 2
(c) +3d 33 4
@) 39 | & BIE TE

g2

1. wEHE & A

2. foreft 7t & FoFR e aTet 9y W
3. HgH W, TE IHI ST & T B
H= fau MU e &1 T = FE 3W gAY
Fad 2 I 3

Had 130K 2

Fad 1311 3

1,23 3

(a)
(b)
(c)

(d)
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arer-deft g fer ¥ fre dwfia T #ER

89.

(26-A)

ATEH & TIH, YT N TEALEA H
Frator fora smur o foran s 2 2

1. e fhr 9W A wd (wita) #
Tehfd 3R MHR

2. HF 3R qum R wply, Rl e o
2

= faw T Fe w1y W d IW g
(a) & 1
(b) FaA 2
(¢ 13 23

@ T@1L,TE2

Yea ma & fo Frafefaa & @ e fawa/faa
forwat <t qd SRt B AfEd R 2

1. & i wE

2. 8F H TGS oA

3. Hawars) ffeRi i rafeufa (location)
= fau e e F wEm W w W g
(a) ad 13 2

(b) Haw 23R 3

Had 1

(c)

@ 1,23MW3



87.

88.

Consider the following statements :
1.  COy should be used to control ‘B’ type
fire

2. Special dry chemicals can be used to
control ‘B’ type fire

3. Foam extinguishers are less effective to

control ‘B’ type fire

4, Steam of water should be used with

caution as it may spread the ‘B’ type fire

Which of the statements given above are not

correct ?

(a) 2 and 3only

(b) 1and 2 only

(¢) 3and4only

(d) None of the above

What are the likely places of putting

anti-vehicle mines ?

1 In rocky areas

2. On tracks running along a river

3. On roads, where water has accumulated

Select the correct answer using the code given
below :

(a) 2and 3 only
(b) 1and2only
(¢) 1and3only
(d 1,2and3
KSDG-A-GIP

89.

(27-A)

The composition, grouping and strength of

escorts i1s determined on the basis of :

1. Nature and size of the convoy to be
escorted

2.  Nature of route and terrain to be passed
through

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Prior information on which of the following

issues is/are essential for foot patrolling ?
1.  Topography of the area

2. Population density of the area

3. Location of the terrorist camps

Select the correct answer using the code given

below :

(a) 1and2only
(b) 2 and 3 only
(c) 1lonly

(d) 1,2and3



91.

92.

93.
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4

I & gt 1 % gy gafea Hifse ok
% = i MU Fe F wET W FE ITW

EE

g1
(3T 9571)

g 11
(3707 et geer
Fo7 (GINT)

A. g e

B. guan rfushrdl
C. gex g mé
D. aftss geam me
He :

%I:

(b)
(c)
(d)

fopeft weff fobu @ CISF Wew &1, & &t ot
THE g qeEHd EE i g8 [l 9, A
1 Prfer &t wEfir & oftar 9f@y it F= w8
g

(a) Trwardt

(b) Gt R

(¢) wg firwd

(d) waN gfdy

sfafgfe % dwm, sl st sfafafie = 2,
Fa el guan s@ afufem it Fa
siteifies gen s« fam & gyl grn wifda
& | wfafrgfe & smafy % &, Frafafea 3
¥ g1/ HE- Fam an 787 dm/Em 2

(a) Toam 58, fm 59 3k e 61

(b) w59, fEm 61 3 faw 71

(¢) T 58, fam 59 3tk w71

(d) haa 59

A
(a) 2
2
1
1

w W b
W o A M
an—-r—iu

95.

%.

(28-A)

Foa fufaer qand (affetor, feaor oiv orfie)

frmraeft, 1965 % A, Frafafea § @ e

317ew * faeg srdiet yeqa <t S Tehd! 8 2

(a) fEm 11 & fiv e foedft snfeq &
3fg F amen Fi$ e

(b) Trgufe gra feam T hié W

© fam 14 & 3w I & A N
yiferesrdt g o fomam R 8 sTew

(d) 3Ifaddl FHR T B ARY AT SFAEAH
FHad & sifaw faer % waes wan &
&Y &I e, I fided oy & fim &

a@ (fences) & s # fi=fafgs o q

HH-AT/FH-E FIF T B/E 2

1. TS giEn hi vgel ik 8

2. ®rg =ifdl (fence posts) H HH-H-HH
30 e =t gff gr wenfad fapan St =nfee

3. g & Afaie U9 F w9 H agi #
AEu-Aet U2 (anti-climb paints)
s fpan s =R

A feu Tu e 1 W@ = FE IR A

(a) e 13R 3

(b) hael 23R 3

(¢) whad 1

(d 1,233

e % fou fafafges # @ /a8
waifes yEfies 2/8 2

L. GOV

2. HFI=

3. UEH HoA

= few U e 1 @ W FE I g

(a) ohad 13 2

(b) hael 2 3R 3

() 1,23R3

(d) Hae 1




91.

93.

KSDG-A-GIP

Match List I with List IT and select the correct
answer using the code given below the Lists :

List I List IT

(Old designation) (Revised
designation
As per CISF
(Amendment) Act,
1983)

Naik
Constable
Head Constable

A. Security Guard
Security Officer

C. Head Security
Guard

D  Senior Security
Guard

Code :

o
P,

&

o

Assistant
Commandant

(a)
(b)
(e)
(d)

= = NN
B W e
(L - o)
S e

The confinement of any enrolled member of
the CISF within the precinct of any barrack,
lines or camp for the time being occupied by
any detachment of the force is called :

(a) Arrest

(b) Open Arrest

(¢c) Close Arrest

(d) Wrongful Confinement

During the deputation, the officer
deputation shall be governed by the provisions
of the CISF Act and CISF Rules. Which of the
following rule(s) shall not apply during the
period of deputation ?

(a) Rule 58, Rule 59 and Rule 61
(b) Rule 59, Rule 61 and Rule 71
(¢) Rule 58, Rule 59 and Rule 71
(d) Rule 59 only

on

94.

95.

(29-A)

Under the CCS (CCA) Rules, 1965, an appeal

can be filed against which one of the following

orders ?

(a) An order enhancing any penalty
imposed under Rule 11

(b) Any order made by the President

(¢) Any order passed by an inquiring
authority in the course of an inquiry
under Rule 14

(d) Any order of an interlocutory nature or

of the nature of a step-in-aid of the final
disposal of a disciplinary proceeding,
other than an order of suspension

Which of the following statements about
fences is/are correct ?

1.  Fences are the first line of protection

2. Fence posts should be placed at least
30 feet apart

3.  Anti-climb paints should be used in
fences as an additional measure of
security

Select the correct answer using the code given
below :

(a) 1and 3 only
(b) 2 and 3 only
(¢) 1lonly

(d 1,2and3

Which of the following is/are most relevant for
surveillance ?

1= CCTV
2. Key control
8. Access control

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢c) 1,2and3
(d) 1only



97. Tafufgs & @ fom gft & 4@ @& am=n

98.
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famga (Lre) %1 3uEnT 7@ o s wehar 2 2
forg vt gt

i gl

ATHEH el

ard aq g

(a)
(b)
(c)

(d)

vaH (Dog) T arEdl &4 W war @I H
aeadl & fou fefafgs & @ #F-8 s
favaeia € 2

1. 379 WH H GHFH H dSeR I qdl
2. 7Y &I HIEAT (concentration of scent)
3. gwafd g9

4. TF F WEA (fitness) Fi fEufd
9 fom U e &1 W = wE IR A
el 1,23 4

Had 2, 3 3N 4

Had 13 3

1,2,33M 4

(a)
(b)
()

(d)

e fufaer dand g % o Fia fafaw ug
g % ot Ffwat e gr &t st 2

FegE, T Sl HaT AT

WA T U

G 1 TSAfd

g # 3ue foe faffde witesrd

(a)
(b)
(c)

(d)

(30

_A)

101.

102.

100. fre @i Taw, S, = T AfERal g ‘

AT =mE 9 % fou s g fafifds
22?

(a) aFl # ¥ foeeht wifa & swE@ =1, Sah
srafy @9 ad 9% $ anft

2H § ¥ e wifd & saw =, Sah
a7afy ufe a9 o= it grft

M | & fopedt wifa & swem =, fSad
37afy grd a9 e 6 anfl

Tftea FIEE A 41 aFil # & farft wifa
% Ha™ 4, e safy g ad o $Hi
A Tt 3 S & oft el am

(b)
(c)

(d)

‘A’ U e A8 T Alh-Ifeh il gRT ST T
uftr.farg 1 g1 a1 B, o W U W W &
e fowr a1 8, foms s 98 fog s s=a

#i foad 78 o 2 e fow 3@ =@ weitia
foran mam o7 | A’ Frfafea § 4 fora SuEy &

Irefiq 39y 1 g 2 2

(a) YW g8 Higar i 9w 432
(b) W 5g |fedr hl R 433
(c) ¥R g8 Hfedr H U/ 434
(d) YRdT g |fgar it 9r 435

ARz HE R 2o zF
qeasherd # ST 8 3R 70 i rfreaes weAd
¥ fom1 u% g had ded & forg 3 amE
FH F HAVE Y A AT R | ‘A I8 fo=ER oA
5 2 g 3T § @ & fow 3| 2 R
fafera gt wm ? | A Fafefas @ 9@ e
379 T 1S BN 2

(a) =ATE 9
by =

(¢) Hufa &1 gfafan
(d) HIE gy TE



W‘

LTC cannot be availed during :
(a) Child care leave
(b) Earned leave
() Casual leave
(d) Half pay leave
98. Which of the following factors are responsible
for the success of warning and detection by a
dog ?
1.  Ability of the Handler to read his dog
2.  Concentration of scent
3. Density of vegetation
4.  Condition of fitness of the dog
Select the correct answer using the code given
below :
(a) 1,2and4only
(b) 2,3 and4only
(¢) 1land3only
(d 1,2,3and4
99. All appointments to Central Civil Services
Group ‘A’ and Central Civil Posts Group ‘A
shall be made by ;
(a) Chairman, UPSC
(b) The Prime Minister of India
(¢) The President of India
(d) Authorities specified in this behalf in
the Schedule
KSDG-A-GIP

100.

101.

102.

(31-A)

What is the punishment prescribed for
criminal breach of trust by a public servant,
banker, merchant or agent ?

(a) Imprisonment of either description for a

term up to three years
(b)

Imprisonment of either description for a
term up to five years

(c)

Imprisonment of either description for a
term up to seven years

(d) Imprisonment for life or imprisonment
of either description for a term which
may extend up to ten years, and shall

also be liable to fine

‘A’ removes a landmark fixed by a public
authority on a busy intersection, and hides
that behind a large tree, due to which it is no
longer visible to the public for whom it was
put on display. ‘A’ is guilty of an offence under
which one among the following provisions ?

(a) Section 432 IPC
(b) Section 433 IPC
(c) Section 434 IPC

(d) Section 435 IPC

‘A’ being on friendly terms with ‘Z’ goes into
‘Z’s library in ‘Z’s absence and takes away a
book without ‘Z’s express consent for the
purpose of merely reading it and with the
intention of returning it. ‘A’ was under the
impression that he had ‘Z’s implied consent to
use Z’s book. ‘A’ shall be held guilty of which
one of the following offences ?

(a)
(b)
(c)
(d)

Breach of trust
Theft
Misappropriation of property

No offence



103.

104.

105.
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frafafgs & @ =G, =10 & Uy &
sifyard wew 7@ 2 2

(a) & @

(b) «EFE 1 T

(c) Tt =afer ot geg o O IwEfa & v
SIEE

(d) W gufe

i w9 & fammumdl i g sifee
(security audit) HIF-H1 TS HT 8 ?

(a) BCAS

(b) ICAO

() ACI

(d) IATA

T i fs o et ftenfied 318 ® CISF

g Ifie & ygE F §9 § HEA § | AT

e w18 &+ yeu-fRyes & s & favg

Far 6 & | 9 Fefafgs @ @ $R

HaE Ha1 ?

1. e Gl % Head 8 SIRehdlel
¥ T9% A H T B

2. veu-fwes F Hew wgEd 6 g R
ot feufa o wfedg 7 =

3. R s w1 wWE A w®, Mg
SIYETEAIA ! Ad-Hid J IAAT W

4, T U8 HEE 9 6 I U]
FI G Fhd & I I W A4 ied
TFd &

9 fou U e F T R FE IR A
(a) had 1,237 4

(b) had 1,23 3

(¢) had 33 4

@ 1,234

(32-A)

106, T A fe om Rl R 6w

3T % @ & 3 T8 U fae 1 ouEwm @
S 2 | fue-sETERdlel @ WE-eld $d
g, 39 HH-d T e 2

1. JeM HHled & I B FIEH B,
Fifs 3 e gver foufeg @ foes &
fore wfifera & &

9. ot ot qfitfeufa # fomm-sraswmsaten i
TEl IHETE

3. faum-sEwesdisi w1 @@ @ fF M
THE-ATIS &

4, Tomm-swEwERdis 6 @ @ @ TE
foreman

2 fou e e w1 wEm W T W AT
(a) hae 1,237 4

(b) hae 1,3 3N 4

(© 1,2,33N4

(d) Had 23N 3

107. F=fifea § & +RA 1 wie /et

2/ 2
1. 3ad-gfg T

2. Gt ywE % @y 3R Y W ufagw
i T g A 9 @ s sEf &
fou aaw % g W # R e wew
(lower stage)ﬁ T TN i IFAfd

3. Srafd Js

4. rfaffar @1 Fanfgfa wadt wEuE %
Fgan AfEd Farfgh

A= few e g F1 A =W wh IR g

(a) hael 1

(b) Hae 13K 3

(c) hae 23N 4

d) 39w H 8 HIE T



103. Which one of the following is not an essential | 19g.
ingredient of the offence of theft ?

(a) Taking
(b) Dishonest intention

(c) Putting a person in fear of death or
grievous hurt

(d) Moveable property

104. Which organization carries out Security Audit

of Airports internationally ?
(a) BCAS

(b) ICAO

() ACI

(d IATA

105. Suppose you are working as the head of the
CISF security unit of an industrial unit. You
are supposed to act against the kidnapping of
the Managing Director of the industrial unit.
Which of the following will be done by you ?

1. Try to make contact with the kidnappers 107.
through informal sources

2. Convey message to the Managing
Director that he should not resist at any
cost

3. Do not try to be heroic, rather engage
the kidnappers in negotiations

4, Always assume that you can reason out
with kidnappers and win them over

Select the correct answer using the code given
below :

(a) 1,2and 4 only
(b) 1,2 and 3 only
(¢) 3and4only
(d 1,2,3and4

KSDG-A-GIP (33-A)

Suppose you are the head of the security unit

of an airport and an aeroplane has been

hijacked there. While dealing with the

hijackers, what precautions will be taken by

you ?

1.  Follow the instructions of the flight
crew, as they are trained to deal with
such contingencies

2. Do not provoke the hijackers in any
circumstances

3. Convey to the hijackers that you are a
Sky Marshal

4. Do not make eye contact with the
hijackers

Select the correct answer using the code given

below :

(a) 1,2and4only

(b) 1,3 and 4 only

(¢) 1,2,3and4

(d) 2and 3 only

Which of the following is/are minor penalties ?
1. Withholding of increment of pay

2.  Reduction to a lower stage in the time
scale of pay by one stage, for a period
not exceeding 3 years with cumulative
effect and adversely affecting pension
Withholding of promotion
Compulsory retirement in accordance
with the provisions relating to
superannuation or retirement

Select the correct answer using the code given

below :

(a) 1only

(b) 1and 3 only

(c) 2and4only

(d) None of the above
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Her sirifies gan 9w afufem & gag §
Frafafaa § 3 a1 /88 $97 a8 /2 2

1. 2T Hiead e Al 2

2. Iu-Fhies e afuw 2

3. ha Iftenfie e sw fufm § wgw
Joy 1 gfeaie 7@ fomar man @

4. et &1 fgfe S shefies g
g Afufm i a4 & T i It 2

9 feu U e &1 FH W FE IW AT
(a) haet 23R 3

(b) ae 13N 4

(¢) hae 33 4

(d) a1

frafafga § & S-a1/39-8 $u9 98 2/ 2

1. hem oMenfes e sd & HEHSYS
*ael HHISE i B lPhd 1 Yo T
ghdl &

2. g Iiifih Fam s F1 HELYSH
dhe I yeA A il ufe vyemfa
& S Hehdl

3. Ay, 8 e & o mn 2, 98
1§ fafes 309 3t wm 5 fou gen
T& &

H= o T e 1 T H FE IW T
(@) 1,233

(b) <had 2 IR 3

(¢) a3

(d) Had 2

110. T 7Ha AfUwR 3@ & ey 6t gl .

111.

112,

(34-A)

A & Tedfd grn us afufa i fawie
YR | Fil It 2 | F=fafea 4 @ <59 =@
gfufa i segerEar s g 2

(a) WRA T JLHEA

(b) T8 WS HT R e Hft
(¢) < @uT o fager 1 A

@) fafy 3 =ma =1y waes wh

qHg Afuer  wew HAfufm, 1993 #
fafafes 4 @ o el & 9 & oo
FIECIERE T IR

1. U ua e SR

2.  UST AH4 SR 3w

3. TFa Afusr feesom

4. TME SR A

= f3u MU e F TEm =W GE W AT
(a) 1,2,33MN4

(b) had 23R 3

(c) ©hadt 1,330 4

(d) Had 1,23 4

Tl 9Td AT #, W §g H <ht gfskan A
fafafgs & @ sRw/sR8 I witw
HET/HH =R 2

1. OefHT 3 et 6t faga smafd 5g s

2. Tasfrai @em (a0 & @t 6 foafa =
BIgH)

3. dledl &l §¢ H

4. 92 3R gl % e e

#ra fou e e 1 FE = EE S g
(a) hael 1371 3

(b) ad 3

(¢c) ohael 33 4

d 1,234



* 108. Which of the following statements with regard
to CISF Act is/are correct ?

1.  Head Constable is an under officer

2. Sub-inspector is a supervisory officer

3.  Joint venture is not defined in CISF Act

4, Director General is appointed under
Section 4 of the CISF Act

Select the correct answer using the code given

below :

(a) 2and 3 only

(b) 1and4only

(¢) 3and4only

(d) 1only

109. Which of the following statements is/are
correct ?

1. The Director General of the CISF can
confer local rank up to the rank of
Commandant only

2.  The Director General of the CISF cannot
delegate the power of conferring local
ranks

3. The officer who has been granted a local
rank shall not be entitled to any extra
pay and allowances

Select the correct answer using the code given

below :

(@ 1,2and3

(b) 2 and 3 only

() 3only

(d) 2only

KSDG-A-GIP

110.

111,

112.

(35-A)

The Chairperson of National Human Rights
Commission is appointed by the President of
India on the basis of recommendations of a
Committee. Who among the following heads
the Committee ?

(a) The Prime Minister of India

(b)  The Minister in charge of Home Affairs

(¢) The Leader of the Opposition in Lok
Sabha

(d) The Minister in charge of Law and
Justice

The Protection of Human Rights Act, 1993

provides for the constitution of which of the
following bodies ?

3 National Human Rights Commission
2.  State Human Rights Commission

3.  Human Rights Tribunal

4.  Human Rights Court

Select the correct answer using the code given
below :

(a) 1,2,3and4

(b) 2 and 3 only

(¢) 1,3 and4only

(d) 1,2 and 4 only

In the basic emergency plan, which of the
following steps must be included in a

shutdown procedure ?
1.  Shutting off power to machines and fans

2. Opening windows (except in case of
bomb threats)

3.  Closing valves

4.  Unplugging vents and pipes

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 3 only
3 only

3 and 4 only
1,2and 4
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g fagal § d= p Fefafes § & =E3
g2

1. feamgsm@ (Denial)

2. TE2#MH (Detection)

3. &%= (Deterrence)

4. T&=@H (Destruction)

= f2u U e H FE W T I A
(a) 1,234

(b) 2,33 4

(¢ 1,233

@ 1,334

&Y I Al (Magnitude) i e I AT9d
22

(a) fTeeemmdt

(b) T =ha

(c) WHIE! I

(d) YHIHTH

T 954 ¥ YRS S Huet g U 9 A
fafrdem (shfn) fga 3 geoe 89 =1fze |
fafidem o wfe g/8 =nfee

1. ity w ege feu fom e & faaw
2. aTEd HHTSU i I 3 HiA

Hi= 2w o e @1 R = EE IW gRA
(a) a1

(b) a2

(¢) 13M2gM

(@ Fa@r1,T82

(36-A)

116. frafofigs § ¥ fFm smar W wefvewss g -

FievH feteh e g H wmirt 2
(a) TeHfaeh erat ¥ weEE HH

(b) & oY d% gHeATI dTE =eH 3 3T
frtd

(¢) Uzg 94 a% ® WAl & @Weo IR I
fepie

@) AT W W G- § Ipe IJqated

117. Fefefga § @ SH-a1/3H-8 S99 a8 /3 2

1. Tt siifies suspm & s &t o
s feon s gear 2, Al @ M sy
T U AT H FEEAT B 8

9. wflg M had IWEUGEM  FEHI
FHaEl ®l g @i 8

9 fau o e w1 W wE IR A
(a) a1

(b) a2

@ 13f2gH

(d a1, T8 2



113. Which of the following are the three ‘D’s in the | 116, Commendation Disecs cannot be awarded by

Principles of Security ?
1 Denial

2 Detection
3.  Deterrence
4 Destruction

Select the correct answer using the code given

below :

(a) 1,2and4
(b) 2,3and4
(¢) 1,2and3
(d 1,3and4

114. The magnitude of an earthquake is measured

by :
(a) Tiltmeter

(c)  Seismograph
(d) Seismometer

115. Briefing by the convoy commander before
moving off must be detailed and explicit. The
briefing should include :

1. Distribution of weapons irrespective of
training

2. Appointment and duties of vehicle
commanders

Select the correct answer using the code given

below :
(a) 1only
(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2

KSDG-A-GIP (37-A)

Director General on which one of the following

grounds ?

(a) Commendable work during natural
calamities
(b)  Accident-free driving and good record for

ten years

(¢) Clean and good record of service for

fifteen years

(d) Outstanding achievement in sports at

international level

. Which of the following statements is/are

correct ?

1, Employees of an industrial undertaking
can be granted monetary reward if they

help to detect serious crime

2.  Monetary reward is admissible to

non-gazetted Government servants only

Select the correct answer using the code given
below :

(a) 1lonly
(b) 2 only
(¢) Both1land?2

(d) Neither 1 nor 2



118.

119.

120.
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frafafed 4 @ F9ar/a93 Fu= a@t 2/8 2

1. Hem oieifie e @ & wHAEw
afteerlt e fafaw @and  (arfis,
fau e orfie) frammaeft, 1965 gm
e 89 2

2. e Ifenfies geam 9« & wdl fohy g
qeEl W g TR & gedl fam gof
w9 & AR 7@ B @

2 fow T e w1 wEm = Ed I g

(a) PHad1

(b) Had 2

(¢ 13f23m

@@ Ja@1, T8 2

sgfaa wifa it sgfea SHonfa (/=R
fraro) arfufem, 1989 & e, fu @
YUY &1 390 f=ferfgd § & 1 T gehdn
27?

(@) w1 g fuwdl, st SP % & & H=
AT R

1 gfera sfeedl, St DSP % Y6 @ 9
&1 AR

13 gferm arfedl, st SHO & & & 4R
& AR

F5 gfera i, st Frlles (3999)
FaRmaa

(b)
(c)

(d)

aggfaa wnfa oft sgfea SHTfd (=R
foamor) srfufiem, 1989 # 2018 % @EeH M
FHT 7T IYSY ST TR 2

(a) Y1 14%
(b) HRI 15
(c)
(d)

g1 15%
i 18

(38—

121.

122,

123.

124.

A)

X-BISH, TIP & &1 areqd 2 ?
(a) W@aU 989 9fRAT (Threat Identification
Procedure)

(b) @R it Bfa FT YW (Threat Image
Projection)

(c) uiifda o vge™ fpy T A% (Tested
and Identified Packet)

(d) 9f&ur YEY WE (Test Identification
Parade)

o e % e, v wivE 1 fest fhw

goft # 3yt B 2

(a) fTaopres

(b) TIE% (Incendiary)

(¢) WawETH erd

@ EfoEm

frafafgs 8 @ F-w/aR3 ad 2/2 2

1. AK-47 US%a1 ®, B9 7-62 mm Tef-Ten
(ammunition) T 3TN w8

2. INSAS TSHd #, 556 mm Tel-Mier
(ammunition) T 394N feFam ST 2

3. INSAS TE%dl, AK-47 TUsHeT & BI Bt
2

4.  AK-47 U3%c1, INSAS Tsht & Wil Bt 2

9 féu U e w1y wR aEd I gAY
(a) Had 1

(b) A 132

(¢) HadA3

(d) had 23R4

CCTV Tt ¥ ded #, frafafiga @ & sF-a

LR R i

(a) W I a5 fo=ma § T JEn =Ry

(b) T 1 B SR Fil AR Ta@ &1 17T

aifes S0 Y19 & qUEh & &= 9 9

Ife gya 8 af Jitet & fode (stacking)

i

(d) GhHEl = Hud 6t feufa & R T
HIAeT 30 §U U A § @1 FHT =118Y

(c)



118. Which of the following statements is/are
correct ?
1.  Supervisory officers of the CISF are
governed by CCS (CCA) Rules, 1965
2.  Leave rules of the Central Government
are not fully applicable to the enrolled
members of the CISF
Select the correct answer using the code given
below :
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2
119. Who among the following can investigate an
offence, committed under the Scheduled
Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?
(a) A police officer not below the rank of SP
(b) A police officer not below the rank of
DSP
(¢) A police officer not below the rank of
SHO
(d) A police officer not below the rank of
Inspector
120. Which new provision has been added to the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 vide its
2018 amendment ?
(a) Section 14A
(b) Section 15
(c) Section 15A
(d) Section 18A
KSDG-A-GIP (39-

121.

122.

123.

124,

A)

In X-BIS, what is meant by TIP ?

(a) Threat Identification Procedure
(b) Threat Image Projection

(¢) Tested and Identified Packet
(d) Test Identification Parade

In the context of Aviation Security, a
matchbox comes under the category of :

(a)
(b)
(c)
(d)

Explosive
Incendiary
Dangerous substance

Weapon

Which of the following statements is/are
correct ?

I In AK-47 Rifle,
ammunition

2. INSAS Rifles
556 mm

3. INSAS Rifle is shorter than AK-47 Rifle

4.  AK-47 Rifle is heavier than INSAS Rifle

Select the correct answer using the code given
below :

we use 7-62 mm

use ammunition of

(a) 1lonly
(b) 1 and 2 only
(c) 3only
(d 2and4only

With regard to CCTV monitor, which one of
the following statements is not correct ?

(a)  Monitor should be placed in a curved

configuration

The monitor screen should be tilted
upward to avoid reflection of overhead
lighting

If possible, stacking of monitors should
be avoided

Screens should be placed in a sequence,
providing logical continuity with
relation to location of cameras

(b)

(c)

(d)



125.

126.

127.

KSDG-A-GIP

vIP guen #, ufd FeRrt (counter surveillance)
=i e B @ | o FrRet % fae
frfafea § & sH-a1/sH-3 e 2/8 2

1. T9R s@M &1 3@ H, 3R e afa ot
Co |

9. fodt wam # S¢ 3 SrHETT T 0

3. w18 fiw i & @i 97 @ 1 ' 5
1 IS 39 33T 2

f1 faw e e 1 FE N HE I G
(a) Hae 1

(b) 1,233

(c) Hae12 3N 3

(d) Hae113M 3

foreft gefera St gm A woeht FAA R, Few
Toei% 8% (Digital Signature) @ F0
ED %‘1 Th 913%3 ﬂ'ﬁﬁ (Private key) 3
w@e fEs # g F3 % o o
@ Ffl (Public key) ¥ 2 ?

(a) MEW@

(b) Gifera yoredt

(c) THfHa TG Jored!

@ s o FHT

af 2015 #, WA % I=aH A I I @
Sreiifieh aifufiem, 2000 F 9T 66% F HH
s 8 3 und % Hfgum & geee
19(1)(%) ¥ foserwr & wror g fear o |
g goe # I=an EEE 3 T8 Ut
faofa femm on 2

(a) IR Tz 9l s=m B T

(b) I §TH TF

(¢ % fhue sA™ wRa |9

(d) G Hel FAW dfderrg T3

(40-A)

128. G.9Nee fawor sfufem, 2002 % adH #E

it a1 sifterrd st 39 srfufEm % anfA

wifthdl 1 FAI H §Y, FRON B AE@EG R

o, a1 w0 % fou qamsh o 2 @ 98 fea

ge | gitg B 2

(a) 3 94 d% &% HUEH & AYST T 50,000
% % JHIA § ga1 gH1 °

(b) 2 9% % % HEE ¥ JAgGT T 50,000
% & U o AT gl |

(¢) 1 a4 % & HE™ & AYG T 50,000
% % A F YT gH |

(d) 6 UIE a% % HE™ & 3G T 10,000

A% % JHIA F AYET g1 |

.y frawe sfufem, 1988 % oA fasw

refisi g faemof Awe §, s
fafea wwamafy fra 2, fome dom fammor qu
¢ forn s =nfRe 2
(a) Eﬁiﬁﬁﬂﬁﬂzaﬁ
(b) H freme 3 a9
() T e 4ad
(d) o e 539

. 9 2 dfgan, 1860 % Frefafga sueyi %

g # A $e-a gyE, e e REm
srfirfaem = 3muw 8 2

(a) T 58F 9T 62

(b) HW 161 ¥ YT 165%

(c) W 216@ ¥ 9T 226

(d) HTI 478, 480, 490 3 492

. TNT % ey § fi=fafga & @ #5991 ®99

wét 78 2 2

(a) TNT &I arcd ZETELIRICEA &

(b) %ﬁ'ﬁtﬁﬁ(creamyyellow)hﬂ'@mi

(c) I TH 3 Hrefeh Ao M

(d) =™ FH dgar F1 fFeHes g wE S
2



125. In VIP security, counter surveillance is very
important. Which of the following is/are
essential for counter surveillance ?

1.  Try speeding up, and then slow down

2. Walk into a building and stop abruptly

3.  Drop something to see if someone picks
it up

Select the correct answer using the code given

below :

(a) 1only

(b) 1,2and3

(¢) 2and 3 only

(d) 1and 3 only

126. What is a system of a secure key pair
consisting of a private key for creating a
digital signature and a public key to verify the
digital signature, known as :

(a) Asymmetric crypto system
(b) Secure system

(¢) Symmetric crypto system
(d) Digital signature certificate

127. In 2015, the Supreme Court of India struck
down Section 66A of the Information and
Technology Act, 2000 as being
unconstitutional and violative of Article
19(1)(a) of the Constitution of India. In which
case did the Supreme Court deliver this
landmark judgment ?

(a) Shamsher Singh Verma v. State of
Haryana
(b) Shankar v. State
(c) Shreya Singhal v. Union of India
(d) Suhas Katti v. State of Tamil Nadu
KSDG-A-GIP

128. Under the Prevention of Money-Laundering

129.

130.

131.

(41-A)

Act, 2002, any authority or officer, who
without reasons recorded in writing, conducts
vexatious search by exercising powers under
the Act is liable for punishment of :

(a) Imprisonment up to 3 years or fine up to

¥ 50,000 or both

(b) Imprisonment up to 2 years or fine up to

¥ 50,000 or both

(¢) Imprisonment up to 1 year or fine up to

< 50,000 or both

(d) Imprisonment up to 6 months or fine up

to ¥ 10,000 or both

In cases triable by special judges under the
Prevention of Corruption Act, 1988, what is
ordinarily the prescribed time period during
which the trial should be concluded ?

(a) 2 yearsin aggregate

(b) 3 years in aggregate
(e) 4 yearsin aggregate
(d) 5 years in aggregate

Which of the following groups of provisions of
the Indian Penal Code, 1860 form the basis for
the present Prevention of Corruption Act ?

(a) Section 58 to Section 62

(b)  Section 161 to Section 165A
(¢) Section 216B to Section 226
(d)  Section 478, 480, 490 and 492

Which one of the following statements with

regard to TNT is not correct ?
(a) TNT stands for trinitrotoluene
(b) It is of creamy yellow colour

(c)
(d)

It is a solid organic nitrogen compound

It is considered to be a low intensity
explosive substance



132. T & dey #§ f=fafes § & #9-8 s v

133.

KSDG-A-GIP

27
1. e feres feama # afsg w0
¥ v snavrs g foaw 2 8

2. @ TSI YBR & HF & — Ho-Aad
(time delay), Wifes  fora (physical
action), 3T YITE (environment)

3. THEte e, Fo-facs ww % I
IR &

= fou mu g F wE =W S I g

(a) 1,23 3

(b) Hae 1R 2

(¢) hadd 23R 3

(d) Haer13M 3

Idware ywifad &6 § Gg® HaUY (Road
Block) T <iar 8 | 3w fnafeifaa o @ fora
fagia/fem fagdl @1 sEuem fRn St
=nfee ?

1. 399 Al & 99" wied § hiears
B Ehdl 8

2. UATH &= g I G § T THT =MMRY

3. IAEd GUeH % IHUN HSH AUy &
fom wififent 6t et it sTe

4. wyfaa der-ogaeen genfya & Sme, S
a¥ft Frepeaw Fififel & forg orea &

= feu T e w1 W = wE I gE
(a) et 1

(b) A 2 3N 4

© 1,233

d) a1 3

(42-A)

134, a2 #1$ VIP feht grew # sgu R, @ U |

Gﬁ'ﬁﬂa‘(:ﬁé’ffﬁﬁi:
1.  FNaHeE e Iuasy g |

2. AW I (FAHMT) Hicl hl BHEH i
STt 2

3. TREHI & UH YoIaH WHE SET T
9 2 |

I HYE § § FH-A1/HHE T /R 2
(a) %ad 13N 3

(b) a2 3K 3

(c) wHad2

(d) Had13R 2

135. fr=fafea # @ frg ome § I=a9 e A

e feu fo6 Shdim washar T &t FHELE Sl
yer foran s =nfee 2

(a) f&fla a9 @ 3= T9m WRd §9 @
I

(b) HEA B (Th oRgipa AEEE) S H

qRd |9
(c) ¥t R NETA AW YR HY UF =

(d) W& FHR FHH T



132. Which of the following statements with regard
to fuses are correct ?
j Fuses are simple switches required to
activate an explosive device
2.  The three main types of fuses are time
delay, physical action, and environment
3. Good example of time delay fuses are
chemical pencils
Select the correct answer using the code given
below :
(a) 1,2and3
(b) 1and 2 only
(¢) 2and3only
(d) 1and3only
133. Road Block’ is done in terrorist affected areas.
Which of the following principles should be
followed in it ?
1. It should make it difficult for the
terrorists to turn back
2.  Adequate troops should be kept in the
open
3.  Manning of road block should be done as
per traffic movement
4, Proper communication be set up, audible
to all nearby personnel
Select the correct answer using the code given
below :
(a) 1lonly
(b) 2 and 4 only
(¢} 1,2and3
(d 1and3only
KSDG-A-GIP

134.

135.

(43-A)

If a VIP is staying in a hotel, you should check

that :

g emergency exits are available.

2. incoming calls are screened.
deposited with the

3. valuables are

bodyguards.

Which of the statements given above is/are

correct ?

(a) 1and3only
(b) 2and 3 only
(¢) 2only

(d) 1and2only

In which one of the following cases did the
Supreme Court give directions that statutory
status should be conferred upon the Central
Vigilance Commission ?

(a) Vineet Narain & Others v. Union of

India & Another

(b) Common Cause (A Regd. Society) v.
Union of India

(¢) Centre for PIL v. Union of India &
Others

(d) Pravin Kumar v. The State



136. = ufgsy ffy i gl swEy sfufem,

137.

1952 % e ®IE FHIH T UIH THH H
gee 8, wfyafiar #i oy yw R gen @@
FE A, J§ vE eHan fefafes & @
fepaet 31y wTE KT & 2

(a) 559
(b) 589
) 60a¥
@ 6294

Frar ufess ffy et yehinf Iuay afafm,
1952 ¥ o, Sy whm i famm & v
For-dva-siy Yym ffy wenfe 6t smoft | 9=
fafy € g % Fru Fefafaa § 3 sE-
whiq guTd & St ?

(a) HHEH! 99 hig

(b) T A8y ggag o =Hm
(c) @ﬁﬁmﬁﬁﬂ

@ I7gE A A HE T

138. I witss faft =fm F Il +E

139.

KSDG-A-GIP

arftr, frdt ot v, Tl @ oftafia et
#ft 3R % Foew & foe, 3w g aia e
ft IRy # R sEfy & i wwifem &=
haT B ?

(a) SI9 W H g ¥ o a9

(b) 9 3w i arfi@ & qf= ad

(¢) I IRV H arl@ | g I

@) IR AW H qhE | T 9§

fraffas § @ #1, sieifie fGag afufEs,
1947 % aefia Forges /nfda w wiftrrdt 787 2 2

(a) Hote AfeHd
(b) HE A

c) WigR
(@ 4 gfafa

(44

—-A)

140.

141.

142.

143.

144'

fisarea fopu S Al ST 1 T FEd & 2
(a) WshH (WTHEE)

(b) WS

€ Fe (FE)

@ 9B (49)

frafafiga 4 & FH-a1, qgIFNH T=EGH T
(multi-user operating system) g 22

(a) UNIX

(b) Windows XP

(¢) MS-DOS

(d) Windows 2000

ffafiga § @ S, F=O0 @A B gAad
qTeE 8 2

(a) |HW FHaA (Coaxial cables)

(b) wAEdd-JW FaS (Twisted-pair cables)
(¢) 37aGh fHl (Infrared rays)

(d) SERIYTE IS (Optical fibers)

frfefiga § @ e ddeia & swm fFh
IP 9 (address) % @Td MAC 9d (address)
Ayt % ferg feman stran 2 2

(a) ARP

(b) IP

(¢) ICMP

(d) FTP

wreg 3iR 3 & Frafafes § @ $h-a 3w wd

gifera 787 82

(a) dremEd ; R e wm & o
®9 ¥ ¢ e I

b) FWEd : ®W o4 # fedt Frew

FEHAAT, FEHAT, FHR

e : feiom @fdg % i 7 g

N % ofumrEEy HHGR I FaT H

gy

@ @ : frdt Feiem = wam @ 3us fed
T 1 TR ®9 @ g fRn S

(c)



* 136.

137.

138.

139.
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Under the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, an
employee who is the member of Pension
Scheme is said to reach the age of
superannuation when such employee attains
the age of :

(a)
(b)
(c)

(d)

55 years
58 years
60 years
62 years

After framing of the Pension Scheme under
the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, a pension
fund shall be established as soon as possible.
The establishment of the Pension Fund shall
lead to cessation of which of the following ?

(a)
(b)

Employees’ Pension Scheme

Employees’ Deposit Linked Insurance
Scheme

(c)
(d)

Family Pension Scheme

None of the above

A Tribunal under Employees’ Provident Funds
Scheme may, at any time, with a view to
rectifying any mistake apparent from the
record, amend any order passed by it, within a
period of :

(a) three years from the date of its order
(b)
(c)
(d)

five years from the date of its order
two years from the date of its order
one year from the date of its order

Which one of the following is not an authority
appointed/constituted under the Industrial
Disputes Act, 1947 ?

(a)
(b)
(e)
(d)

Conciliation Officer
Board of Conciliation
Registrar

Works Committee

140.

141.

142.

143.

144.

(45-A)

Program in execution is called a :

(a) Process
(b)  Product
(¢) Code
(d) Page

Which one of the following is not a multi-user
operating system ?

(a) UNIX

(b) Windows XP
(¢) MS-DOS

(d) Windows 2000

Which one among the fol'owing is the fastest
mode of transmission media ?

(a) Coaxial cables

(b) Twisted-pair cables
(¢) Infrared rays
(d) Optical fibers

Which one of the following protocols is used for
determining the MAC address corresponding
to an IP address ?

(a) ARP
(b) IP

(c) ICMP
(d) FTP

Which one of the following pairs of term and
meaning is not correctly matched ?

(a) Lockout : Temporary closing of a place of

employment

Lay off : Failure, inability, refusal of
employer to give employment

(b)

(¢) Suspension : Termination of service of
workman as a result of non-renewal of

contract of employment

(d) Closure : Permanent closing down of a

place of employment or part thereof



145. FHEr gfye afufgy, 1923 % d8d <HHEr”
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wieg § &9 wfve 787 8 ?

(a) ot agam &1 Fed o1 FHiga w1 F
LI

) fFfht bt a9 % dey § 3RS, 3O,
Fef % &9 § 9l fopar man =afd

(c) U 96 % g ! 2fta ¥ s B8
=fth 5

@ v #E =fe S fedt St g fagw #
FH FE & fou wdl o s 2

@< ufshar Gfgar, 1973 1 gr 94 & e, yow
T o HiRad 6l uf ¥ IW 5 fH
yfer sifepill 1 aie gRT T8 WIfeehr 3 wehal
2 % 98 39 A A qemh A, & IO 5@

gy, fefad gwed, e 8 H HeE @ |
frafafiea § @ SNt smfaems e 38 9/
& el v 78 £ 2

(a) FHepa fomt
(b) et HETE
(c) IFvElta TEqL
@) rd faanfea g

fafafiga & § #19, o T 9 WUER H
afigen § ol exaras, a1 3 =S 6
qemeht % fore are s %@ & fore wiftrpa B 2

(a) SuEs WiERE
(b) wuH & =nfes Afwe
(¢) Torem ufo=e
@ Tedra ot =nfaes wfoege

(46-A)

148. @e ufwan dfgdr, 1973 & G 95 & 7 159

@R fefafigs @ & 5 awgen &1 gausw

w fau 9w 6 diwon wowe it giem

siftepift w1 fierdia w0 % fog wiftpa s

gt ?

e 3R TETfes

Bl A1 3T GIEEI

3. THMER-YF 3R IS

4. uTq 2 ifufEm, 1889 % IgEA | G
T 4Tg-EE

Hiar fau e e &1 wEm F wE IR g

(a) had 132

(b) “had 334

(c) aﬁ?‘ll,23ﬂ'{3

(d) Haw 233

Io =

. 98 fafga gug € 70 2, a8 e <

ufeken @fgar, 1973 i um 95 & 3 fohy g

GUIEr 6 SN0 H FIRA HH h ¢ IH

RAETAT T e H FHT 2

(a) TSUF B U diwon % YA H aE d
ugE T

(b) TSYF § Ut =won % g e |
3 TR

(¢) TWUF § UH Sy % yevE i aiE |
o= T8

(d) T9F T e S % YR i akE |
o8 HI8

. 39ed o+ e wE % fou, g wiea

gfean, 1973 6t ar 98 % v Frafeifiga & &
Rl ey = Y Wil 787 8 2

(a) ﬁlﬁTﬂﬁﬂ@E

(b) 3ITES AR

(¢) Yfera srefiers

(d) 9 T ufaEe



145.

146.

147.
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The term
Compensation Act, 1923 does not include :

(a)

“employee” under Employees

A captain or other member of the crew of
an aircraft

(b) A person recruited as driver, helper,
cleaner in connection with a motor

vehicle

(¢)  Any person working in the capacity of a

member of the Armed Forces

(d) A person recruited for work abroad by a

company

A Magistrate of first class may, under
Section 94 of the Code of Criminal Procedure,
1973, by warrant authorize any police officer
above the rank of a Constable to search a
place suspected to contain stolen property,
forged documents, etc. Which of the following
objectionable articles are not covered under
this Section ?

(a)
(b)
(c)
(d)

Counterfeit coin
False seals
Obscene objects

A controversial book

Who among the following is authorized to
grant a warrant to search for a document,
parcel or other thing in the custody of the
postal or telegraph authority ?

(a)
(b)
(e)
(d)

Sub-divisional Magistrate
Judicial Magistrate first class
District Magistrate

Judicial Magistrate second class

148.

149.

150.

(47-A)

Under Section 95 of the Code of Criminal
Procedure, 1973, the State Government may
declare forfeiture and authorize Police Officers
to seize which of the following items ?

1.  Paintings and drawings

2.  Photographs or other visible
representations

3. Newspapers and books

4. Pieces of metal made in contravention of

the Metal Tokens Act, 1889

Select the correct answer using the code given
below :

(a) 1and2only
(b) 3 and 4 only
(¢) 1,2 and 3 only
(d) 2and 3only

What is the prescribed time limit within which
a person may make application to the High
Court to set aside a declaration of forfeiture
made under Section 95 of the Code of Criminal
Procedure, 1973 ?

(a) Fifteen days from the date of publication
of such declaration in the Official
Gazette

Two months from the date of publication
of such declaration in the Official
Gazette

Three months from the date of
publication of such declaration in the
Official Gazette

Six months from the date of publication
of such declaration in the Official
Gazette

(b)

(e)

(d)

Who among the following does not have the
power to make an order under Section 98 of
the Code of Criminal Procedure, 1973, for
restoration of abducted females ?

(a) District Magistrate

(b)  Sub-Divisional Magistrate
(¢)  Superintendent of Police
(d) Magistrate First Class
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take away with you the Test Booklet.
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This Test Booklet consists of Two Parts, Part A deals with General Ability and Intelligence
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